4th Class Maths Answers Week 3 (Monday 30™ - Friday 3™ )

Maths Time 4 Week 28

Mon Tues Wed Thurs Fri

1.8 1. 400 1. Answers will vary 1.3.24 1. 204

2.700 2.3 2. 650 2.4 2. Teacher check

3.9 3.5 3.4 3.€450 3.6

4, 9, 21, 23 4. Answers will vary 4.76 4.4 481/5

5. €8.99 5.45 5. 3652 5. 250 5. 9000

6. 4000 6.10 6.18 6.215 6. 2185

7.7102 7.7000 7. 60 7. 6500 7. 5440

8. True 8.25 8. False 8.« 8.9/12

9.05 9. 5040 9.3 9.0.709 9.225

10. 90 10. 6 hrs 75 10. €3.50 10. 60 10.1.41

11. 3 mins = 7 hrs 15 | 11. Answers will 11. 3600 11. 7698

12. 14 mins vary 12. 10c 12.4/8or 1/2

13.10 cm® 11.129r 2 12.0.2 13. 3 13. 4 hrs 24

14. 54 12. 1001 13.1,2,4and |14 ¢ mins

15. Yes 13.5.99 5 15. 12 14.9 1/10 =
14, Teacher check 14. 5850 9100 ml

15.172r 1
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